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Q1) Explain using IS-LM curves the impact on Aggregate Income (Output) and the interest rate of the

following:

a) Government increases its expenditure with no change in money supply

b) Government increases its expenditure with accommodating change in monetary policy
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Q2) Derive Aggregate Demand (AD) curve. Show and explain the impact of positive demand
shock on GDP and price level for Aggregate Supply (AS) curve in

a) Keynesian range
b) Classical range
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Q3) Derive LM curve. What factors are responsible for the slope of IS and LM curves?
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Q4) Distinguish between Structural, Frictional and Cyclical Unemployment. What are the social
costs of Anticipated Inflation?

TR, TNUT 3IR b1 SRISHTRY & a3 TWF $Y | TATRIT ERWBITd P ATHIID
AR T 62

Q5) What is Phillips curve? Derive Long run Phillips curve using Aggregate Demand and
Aggregate Supply curves. (15)
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Q6) Compare the effectiveness of monetary policy in an economy with flexible exchange rate with a
Fixed exchange rate economy .
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